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Answers

1. yes

2. no

3. yes

4. yes

5. yes

6. yes

7. no

8. no

9. yes

10. yes

11. no

12. yes

13. no

14. no

15. no

16. no

17. no

18. yes

19. yes

20. no

Determine if the answer shown is reasonable (yes) or not (no).

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160

1) 5 × 718 = 3,590 2) 428 × 5 = 2,141

3) 823 × 10 = 8,230 4) 5 × 171 = 855

5) 2 × 745 = 1,490 6) 314 × 2 = 628

7) 10 × 920 = 9,207 8) 10 × 664 = 6,648

9) 281 × 2 = 562 10) 530 × 5 = 2,650

11) 104 × 5 = 524 12) 375 × 2 = 750

13) 965 × 5 = 4,828 14) 619 × 2 = 1,239

15) 2 × 142 = 285 16) 2 × 673 = 1,347

17) 5 × 202 = 1,012 18) 445 × 10 = 4,450

19) 10 × 504 = 5,040 20) 824 × 2 = 1,649
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